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D-277 Dental Physiology, Summer 2011, Quiz 3,

Tuesday, May 17, 2011
There are 4 questions. Each is worth 0.5 points. Please write the letter of the correct answer in the box provided by each question.
1. Which one of the following is most likely to occur during left ventricular ejection in a patient with severe aortic stenosis ?

a. A greater than normal blood flow through the aortic valve. 
b. *A greater than normal blood velocity through the aortic valve.
c. A smaller than normal pressure difference across the aortic valve.
d. A greater than normal aortic pressure.


2. Which one of the following changes in the SA node action potential will cause a decrease in heart rate ?

a. *An increase in the duration of phase 4.

b. A more positive maximum diastolic potential.
c. An increase in the slope of phase 4.

d. A more negative threshold.


3. An increase in left ventricular contractility as a result of an increase in the activity of the sympathetic neurons which innervate the ventricle will cause which one of the folllowing ?
a. An increase in heart rate.

b. An increase in the left ventricular end-diastolic volume.
c. A decrease in the slope of the end-systolic pressure-volume relationship (Emax).
d. *An increase in the ventricular ejection fraction.


4. An increase in which one of the following Starling forces is the primary reason that pulmonary edema is more likely to occur when a patient with heart failure is moved from a seated to a fully supine position?
a. The interstitial hydrostatic pressure in the lung parenchyma 

b. *Pulmonary capillary hydrostatic pressure.

c. Plasma oncotic pressure
d. The interstitial osmotic pressure in the lung parenchyma.
